AJ=-A' I~
11-=3D

g m X

REERS
PH11




BREBEOHAEZEICDOWT

137
COEFEEEE, VIO TERENTVET,

R
WEMICIZ RS, BHXEZGEHML TOET,

RIER(
REBMRICGEERENTOREFR, TEXWEELBEORMUBEBZRLTEL T,
CTIWIRENTHEBE —HAME LTEEFRHCA->TED EITOT, BAKBOHEE
IKTTHEXLFES LS BRVELET,

RETH
EHE T BURICEERE N TV A EFE., MR HFOFEN T T (KE) T, @il
Hmd L1ty hTORETETT,

I
M THHCEEN TV ABER 7 vy 7Y —8RTd, ¥z, ALOBMPRBET
HPNEIRHLBSOMNENTHWAYICIE D HAEAIEET T,




PH11
T/ ¢ SUT—RRER ceevreerecnnnnnnnnnnnnn. 2~-5
FHIJ R -cececerererererercrrecriiiiiiiiiin. 6~9
FEFFER +vvvvvvrereererararmmnntiiinassnennnnnn, 10~11
A R EI—JUER (1) cveerreerereernrnnins 12~15
A FO—JUER (2) creeevecercenanccnnnnn. 16~19
FIN— o BRI BB ceeeeennnnnnne, 20~23
FA—A c TEATEReveeereeeenceieniinnn. 24~-27
A= e TWGUER e 28~-29
/3= PER ceeceiiieniiiiiiiiiiian 30~31
;ﬁ E; ....................................... 32~33
B oI OB ceeecereiiiiiiiiiiiiii 34~37
AT WHER cevveentecniiiiiiiiiiiiiiiii. 38~139
TEEERIBIEL --ovvvrrvvrrrrorerssransnenrnnenniennnnns 40

2011.10



§
v 7

LTI

FFFEETE AR EEEEFE AT I T T Y

TIITIfY,
T Ty

LEELE LT LY
FITTIEITIEETT,

T T

L L

FTTEIFTEFITTETITIT,

X

-

L&*_tu 11-23D




IV 21 —%28 PH11

RHNo.| B M &F = =7 T S T % = B | FEEhr | P T3
1 | 34170—61111 | =TV DM950D (23D) 1
2 | 34170—13241 | TV UE () 1
3 |01125—51025 | ~"ARNLVE (SWHY) M10 X% 25 (7T) 4
4 |01125—50825 | /~AFRIVE (SWHT) M8Xx25 (7T) 7
5 | 34170—13251 | =08 (B) 1
6 | 01125—51025 | /~AFRIVE (SWIT) M10 X 25 (7T) 4
7 | 01125—50820 | ARV E (SWE) M8 X 20 (7T) 8
8 | 083—1600 FLraxs % (A) 1
9 | 083—1610 FL>axsz% (B) 1

10 | 34170—63191 RL>h—A 1
11 | 836—1023 F—ANRVER b 23 2
12 | 34170—63241 | HETv ¥ a 1
13 | 812—1012 2y | Ay B A2 4 WF12 1
14 | 0117551216 | ~AFRIL FHE (SWH) M12X16 (P1.25) (7TT)| 1
15 | 34170—61311 | =7 7V —FHfIE 1
16 | 01125—50812 | ARV (SWHT) M8 X 12 (7T) 4
17 IT77V—F 175" 8B &k 1
18 R—AXLT7 7Y —F 175" 78R &h 1
19 gV w7 1y 78R & 2
20 INJE ZV)—F Uy 78R 1
21 | 02152—50080 | AT v b 1
22 | 01155—50816 | /~AFINE M8 X 16 (7T) 2
23 | 02124—50080 | MEEF M8 2
24 | 34170—63121 | TV =V 1
25 | 01125—50825 | /~ARIEF (SWHT) M8 x 25 (7T) 4
26 | 34170—63112 | =YV /—1) 3.5B2 1
27 | 05710—00735 | F— (KL 7X7X35 1
28 | 081—0172 TV RIL—b 1
29 | 01135—51025 | /~ARNVMEE (SWHD M10X 25 (P1.25) (7T)| 1
30 | 34170—63421 | EBREZ 5 v FHh 1
31 | 01125—50820 | ~AFIVE (SWIT) M8 X 20 (7T) 5
32 | 34170—63411 | BREY S v F 1
33 | 05710—08758 | F— (H#L) 8 X 7X58 1
34 |34170—63431 | =TV F7L—F 1
35 | 04513—50100 | /SRx)E4S M10 35) 1
36 | 01074—51075 | AR MHE M10X 75 (P1.25) (TT)| 1
37 | 34170—63441 | BRI/ v FA b v 1
38 | 01125—50825 | SARILE (SWIT) M8 X% 25 (77T) 2
39 | 34170—63512 | STV IT—&2TS4 v b (k) 1
40 | 01025—50616 | ~ARIVE (SWH) M6 X 16 (7T) 3
41 | 01125—50820 | ~AFRIVE (SWED M8 X 20 (7T) 2
42 | 34170—63521 | S x—&2TSh v b () 1
43 | 01025—50616 | /SAFRILE (SWF) M6 X 16 (7T) 3
44 | 01125—50820 | /SAFIVEF (SWA) M8 X 20 (7T) 2
45 SIVI—=ZT T WV 1
46 F—RX (DA—Z—A421Lv ) Ly 78R 1
47 F—=RX (Ux—Z—=7IbLw k) | 179 V585 1
48 o0 w S 175" 78R &k 4
49 | 34170—63531 | 77 U HI3— 1
50 | 01025—50612 | /NAARIVE (SWT) M6 X 12 (77) 4




) e ST —RER

H

PH11 T2~

W L]

-‘i.hw\w - * -
’4 B TITEIFEETEEI I EEFETFITIINIE]
\hﬂu___,..__1mwhkn&h_ﬁuh&hhﬁ -,
T LT
O\ T
o \— ST
LTI/ LTy

LTI ST
WTTL T S0 T

Larreiddririrgdiei
AT LT
I L

11-23D



IVIY«SIVT—25 PH11

BHNo.| M & & B ® & & ™ i = (BE | R | AT
51 FGTVL=-ZNVF—=T R 177 JER G 1
52 Gy 7" 3777927770, =8« W -N') | 1YV JER S, 1
53 | 083—1630 VY —T % 7EtE 1
54 | 34170—67312 | R 7 4V EZEUGE 1
55 | 01125—50820 | ~AFNLE (SWIT) M8 X 20 (7T) 1
56 | 01125—50816 | 7/~ARNLEF (SWET) M8 X 16 (7T) 2
57 | 04013—50080 | VS 8X18X1.6 3
58 3 S SIVE 175" 755 1
59 | 34170—67211 | R K—RX (B ~T 1)V 7R) ®7.5X ¢ 15X880L 1
60 | 836—0015 F’—=RA7V w7 ¢ 151 4
61 | 34170—67221 | ARIAR—RA (D4 NE~T /T ) $ 7.5X ¢ 15X 250L 1
62 | 34170—67231 | RIEFR—X (/T ~&V D) 66X ¢13.5X1010L | 1
63 | 836—0013 — X7V w S ¢ 134 2
64 | 34170—65111 | EX¥=Fk— IV K7 XTI % 1
65 ARy b (ZFV=ZAMRALT) | 7 785 2
66 RbiE¥»F vk M8 Ly JEB & 8
67 | 04512—50080 | /N\RES M8 8
68 | 01125—50825 | ARV (SWHT) M8 X 25 (7T) 2
69 | 34170—65121 | T SHFERXFT— 1
70 | 01155—50830 | /AR B M8 X 30 (7T) 2
71 | 02124—50080 | MEBF» b M8 2
72 | 04013—50080 | FEES: 8X18X1.6 4
73 | 02152—50080 | 7~AF v k M8 (3f5) 2
74 RISTwer7Y) (FarFrs &) | vy /a5 1
75 | 083—1590 HESURH O 1
76 | 083—8732 T TRy b AL v FHITE 1
77 | 01025—50612 | AR (SWHT) M6X 12 (7T) 2
78 | 751-1001 XTI P ALV F 1
79 | 04013—50060 | S 6X13X1.0 2
80 | 01025—50612 | AR EF (SWHD) M6 X 12 (7T) 2
81 | 34170—84411 | BRI ]
82 | 34170—84441 | EFMR L/ SvF v 1
83 | 01025—50612 | ARV (SWHD) M6 X 12 (7T) 2
84 | 01055—50625 | SERIE M6 X 25(7T) 2
85 | 04015—50060 | FESR 6X18X1.2 4
86 | 02124—50060 | IMEEF - k M6 2
87 | 34170—84422 | EBWR () 1
88 | 01025—50612 | /~ARILE (SWAH) M6 X 12 (7T) 1
89 | 34170—84431 | B (H) 1
90 | 34170—84462 | fR&/3vF>/100—185 1
91 | 34170—84472 | {##%,%vF>/100-100 1
92 | 04013-50100 FES 10x22x1.6 8




PH11 &h{mEsR

17

“L*F 11-23D




BhimES PH11

RHNo.| 8 # & 5 B A % 7 1% i fE% | REEA| FEETE

1 | 34170—13112 | XA V7L —1 1

2 | 3417023112 | AT VATV aryT—LAh 1

3 | 0892121415 RSARXZ— 70B—1215 2

4 | 715—1101 Fvvavr—=y B—45T 1

5 | 04612—10150 | ALY ER S—15 1

6 | 04013—50120 | FES 12X26X%2.3 1

7 | 05651—51250 | SEfT¥ Y 12 X 50 1

8 | 05511—50320 | & 3X20 1

9 | 02124—50080 | MEE>» k M8 2
10 | 34170—56191 | 7> a>HRl b M8 X 105 1
11 | 34170—23421 | WET V¥ a ATV T 1
12 | 34170—21122 | A7/ X 1
13 | 05710—00620 | F— (KL 6X6X20 2
14 | 34170—21151 | A& 7—Y 5B1 1
15 | 34170—21141 | AU & 7—1 45B1 1
16 | 34170—21131 | AU 27—V 1E XK 2
17 | 01125—50816 | AAARIVE (SWIY) M8Xx16 (7T) 8
18 | 34170—21241 | FEfT7/—V 4.5B1 1
19 | 05712—00523 | F— (@A) 5X5X23 1
20 | 34170—21231 | ET 7=V IEXIR 1
21 | 01125—50816 | /~ARILVEF (SWT) M8x16 (7T) 3
22 | 02173—50100 | AAFw k Mi10 GiED 1
23 | 04512—50100 | /SR ES M10 1
24 | 34170—15101 | ETIv¥ 3V 1
25 | 33174—15151 | AAIE VY 1
26 | 01155—50820 | SARIVE M8 x20 (77) 2
27 | 02124—50080 | MEF v b M8 2
28 | 33174—15161 | AA WA/ TKR—A 1
29 | 33174—15171 | F—ANRVE 2
30 | 01155—51055 | AEARIE M10x55 (7T) 2
31 | 02124—50100 | IMEEF» b M10 2
32 | 07516—40034B | V)L b SB34 WB800 1
33 | 07516—40028B | V)L b SB28 W800 1
34 | 07516—40025B | VXL b SB25 W800 1
35 | 081—1241 PRBB TSV IOEaAy b 2
36 | 01155—50816 | SARILE M8X% 16 (7T) 4
37 | 02124—50080 | IMMEEF» b M8 4
38 | 34170—23412 | WET V¥ a v T7—L 1
39 | 0892121415 R4 RXE— 70B—1215 2
40 | 7T15—1101 Fovavrl—y B—45T 1
41 | 04612—10150 | @A IE R S—15 1
42 | 04013—50120 | FEZS 12X26X%2.3 1
43 | 05651—51250 | BAfTY > 12X 50 1
44 | 05511—50320 | B> 3% 20 1
45 | 02153—50080 | /NAAF+ v b M8 2
46 | 34170—56191 | Fr ¥ a VRNV b M8 X 105 1
47 | 34170—23422 | MET V¥ a ATV VT 1
48 | 34170—23312 | EfTT v av7r—4h 1
49 | 0892121415 RSA A &— 70B—1215 2
50 | 715—1101 Tvavyr— B—45T 1




PH11 Eh{mEse

17

“L*F 11-23D




B}AOES PH11

RHiNo.| WM E 5 B M %A i ¥i& = (%L | FErEHEf | AENE T3
51 | 04612—10150 | #hA L& S—15 1
52 | 082—6000 SEEES 12X22X1.6 2
53 | 04612—10120 | #hH (kDG S—12 1
54 | 082—3540 ETFTvvavRivk M8 X 88 1
55 | 02153 —50080 | <A+ v k M8 2
56 | 082—9020 EfTTFvavArY) oy 1
57 | 01025—50612 | AR (SWIT) M6x12 (77) 1
58 | 04015—50060 | FEEESE 6X18X1.6 1
59 | 04013—50100 | ‘FEEE4S 10X22X 1.6 2
60 | 34170—21162 HTURTSrw b 1
61 | 01125—50820 | AR (SWAT) M8x20 (7T) 2




PH11 E1758

—-H, ,.tj_ 11-23D

10



E{1T88 PH11

RHiNo.| B & & 5 H® & % 1% 53 (EE |REEA| BT
1 | 34170—11112 | FEfT7L—LA 1
2 | 34170—12111 | 74 FS7L—L () 1
3 | 34170—12121 | 74 FS7L—L () 1
4 | 01155—51608 | "ARILVE (XY M16 X150 (7T) 2
5 | 02153—50160 | ~AAF vk M16 2
6 | 079—1300 Ta— 230 X 40X 72 2
7 | 04513—50100 | "R ES M10 (35) 2
8 | 060—2410 finy () 2
9 | 252—0350 IR i )56 4
10 | 08141—06204 | R—IR7 VY 4F 6204LLU 4
11 | 929—4276 S & 10X 25X%3.0 2
12 | 01125—51025 | ~AARILE (SWIT) M10x25 (7T) 2
13 | 060—2450 iz (/) 4
14 | 252—0350 i e & 8
15 | 08141—06204 | R—IL 7Y 5 6204LLU 8
16 | 04014—50100 | FES 10X25X3.0 4
17 | 01125—51025 | ~AFRIVE (SWIF) M10X%25 (7T) 4
18 | 33174—11121 | 74 K5 2
19 | 252—0350 i B 4

20 | 08141—06204 | R—)_7V) 5T 6204LLU 4
21 | 04014—50100 | ‘FEES 10X25X%3.0 2
22 | 01125—51025 | ~AAXRIVE (SWH) M10x25 (7T) 2
23 | 34170—11141 | 77 ANWr—RA% (k) 1
24 | 01155—51225 | /AR B M12x%25 (7T) 2
25 | 02153—50120 | Afa+ v k M12 2
26 | 34170—11151 | 77 ANVr—A% (fH) 1
27 | 01155—51225 | ~AXRIL B M12x25 (7T) 2
28 | 02153—50120 | <A+ v b M12 2
29 | 06613—30108 | 7V A=w )V B—PT1,/8 (45°) 2
30 | 34170—11171 | HihHk)ILF 2
31 | 01125—51030 | SAFRIVE (SWHD) M10Xx30 (7T) 4
32 | 34170—11161 70— A7 v b 2
33 | 081—0172 v RFFL—Fh 12X35X%X4.5 2
34 | 01059—51030 | AARILE M10x30 (11T) 2
35 | 04512-50120 | "RH¥PH=A M12 4
36 | 082-2090 A RR R yIi— 2
37 | 04512-50160 INFHH R M16 2

11



PH11 3> bo—L# (1)

'\II--..I J
F :

..i'\\ 1 -

N LW

wd &
\\:_;s N

oy
G

E 11-23D

12



avero—)uE (1) PH11
RHiNo.| % 4 & B & % W i B B [ FEEA | AN TH

1 | 34170—33111 | Et88/3x )V 1

2 | 34170—34111 | ¥fE/ RV 1

3 | 01453—90616 | 75 I NARIVE M6 X 16(7T) 13

4 | 058—3110 dJLE 4

5 | 03054—50412 | +FIUTFRaRY M4X12 4

6 | 34170—42151 | Y1 K7 I v FL23— (K) 1

7 | 01155—50820 | AARI B M8 X 20(7T) 2

8 | 02124—50080 | mMM&EF v b M8 2

9 | 34170—42161 | YA R72S5vFL:3— (H) 1
10 | 01155—50820 | 7SARIVE M8 X 20(7T) 2
11 | 02124—50080 | [MEEFv k M8 2
12 | 56731—56121 | —FV 12—34 Zn 2
13 | 34170—42121 | YA R S5vFLx—7—L () 1
14 | 0893151720 25Ty a LFF—1520 4
15 | 34170—42131 | YA Fo7ovFL3—=7—L (H) 1
16 | 34170—42111 | ¥4 FZ7 v FL—Iil 1
17 | 53042—34281 | Fx VS 15X24X1.6 2
18 | 05511—50425 | &Y~ 4% 25 2
19 | 53022—44831 | Frvav S —VES 15X24X0.8 4
20 | 34170—45251 | BHETL—FH 552 1
21 | 01125—50816 | SAFRILEF (SWHD) M8 X 16(7T) 4
22 | 34170—42171 | Y14 Fo7SvFuav R 2
23 | 02153—50080 | <At v b M8 2
24 | 04013—50080 | FHES 8X18X1.6 2
25 | 05511—52515 | BV 2.5%X15 2
26 | 34170—42181 | YA K2 SwFVaAL v b 2
27 | 05651—50822 | BAfT¥ Y 8% 22 2
28 | 04013—50080 | FEES 8X18X1.6 2
29 | 05511—52515 | #E > 2.5%15 2
30 | 34170—42191 | YA Fo2S5vFRILE 2
31 |02153—50080 | ~AFwvh M8 4
32 | 34170—42211 | VA4 RIZSvFA SV 5 2
33 | 34170—42221 | YA RIS FVE=VATSYV /T 2
34 | 34170—42231 | XA Ky 2
35 | 34170—42241 | Y4 F7L—Fnuavy F 2
36 | 05651—50822 | BHffE > 8% 22 2
37 | 04013—50080 | FEES 8X18X1.6 2
38 | 05511—52515 | &Y~ 2.5X15 2
39 | 34170—42271 | YA F7 5w F#EbRk (&) 1
40 | 34170—42281 | VA K7 5w FHEik () 1
41 | 34170—42291 | YA FT7L—3HEBhR 2
42 | 01155—50820 | SARIL b M8 X 20(7T) 6
43 | 02124—50080 | M@EF v k M8 6
44 | 34170—45211 | BEET L —F L3 — 1
45 | 0893121415 TS50 Twva LFF—1215 2
46 | 082—3530 =) 12—45 PZn 1
47 | 082-6000 a4y 12X22%1.6 1
48 | 04612—10120 | ®WHFHIEX Y S—12 1
49 | 082—3370 TJL—FY 5B 1
50 | 04613—30080 | EV /% E—8 2

13




PH11 3> bO—IV8 (1)

'\II--..I J
F :

..i'\\ 1 -

N LW

wd &
\\:_;s N

oy
G

E 11-23D

14



aArrka—vE (1) PH11

FAHNo.| B A & S B M & 15 B (E%L | BT | FENE TR
51 | 04012—50100 | ¥EE& 10X 18X 1.6 2
52 | 34170—45241 | B¥EE 7 L—iif 1
53 | 53022—44831 | T av S —VES 15%X24X0.8 2
54 | 34170—42261 | VA K75 v F3R% 1
55 | 0893151720 7509 Twya LFF—1520 1
56 | 01125—50816 | /AR (SWAT) M8 X 16(7T) 4
57 | 34170—42211 | YA RIS FRATIV YT 1
58 | 05511—50215 | B 2X% 15 2
59 | 929—9204 EEE 6X16X%1.6 2
60 | 34170—45221 | BT L—F7—L 1
61 | 0893151712 7507 Tvva LFF—1512 2
62 | 34170—45231 | BE T L —F#K 1
63 | 02052—50060 | 7/~AFw bk M6 (35H) 2
64 | 04013—50060 | ‘S 6X13X1.0 1
65 | 05412—10420 | RSV T 420 1
66 | 053—9110 A 1
67 | 040—2670 AEZEE 2
68 | 03054—50410 | +F7UTFNaxY M4xX10 +A/avs| 4
69 | 02024—50040 | mMEEF> v b M4 4
70 | 34170—31111 | HpEs2 1
71 | 0893151720 TS50 T LFF—1520 1
72 | 34170—31231 | Tv R L3— 1
73 | 04013—50100 | FEES 10X22X1.6 2
74 | 082—4250 )| AW V= 2
75 | 01025—50616 | AR (SWH) M6 X 16(7T) 4
76 | 34170—31241 | T R/ Lx—y)F 1
77 | 01125—50816 | /~AARILbF (SWH) M8 X 16(7T) 2
78 | 082—4940 DZASDI E- Sy Sy 8) V2 4 1
79 | 082—7361 ATV T 1
80 |34170—31321 | ¥ avHFIL bk (6X50) M6 1
81 |02053—50060 | <A+ vk M6 1
82 | 082—4930 Ty RV T /g V— 1
83 | 05661—50622 | FA(TY 6% 22 1
84 | 04013—50060 | FEES 6X13X1.0 1
85 | 05515-50060 | LtHE > o6 1
86 | 086—0520 BHLIN—RAA wFT 2w b 1
87 | 03024—50516 | +FEIAYFFRaxY (SWFH) M5 X 16 1
88 | 082—8590 Fv RIVAAL v FB 1
89 | 01025—50616 | AR E (SWIT) M6 X 16(7T) 2
90 | 086—0510 BHLIN—AA W F 1
91 | 01255—50520 | +F7AFSARIVE (SWIT) M5 X 20 1
92 | 083—3510 A0 kI LIs— 1
93 | 822—6301 #b (M) 1
94 | 04516—50080 | VS \RES L—8 1
95 | 04013—50080 | FES 8X18X1.6 2
96 | 02551-50080 | U+ w k M8 1
97 | 083—3520 2w MVLIA—T 54w b 1
98 | 915—1003 +Z7AFSARNVE (SWHD) M5X 12 2
99 | 34170—47111 | A\ MLIA ¥ 1

15




PH
PH11
-~
v hO
— JLER
(2)

%\t

16



arvbho—ibEs (2) PH11

HHNo.| %8 & & B B % % ] it BB |FEs | FEE T
1 | 34170—41121 2 LA— 1
2 | 082—17310 T L IR——)b 1
3 | 082—7350 TL—F7—L 1
4 | 04016—50100 | FES 10X16X%1.0 1
5 | 082—7270 TL—F¥ 2 —Assy 1
6 | 082—3270 ATV TEAL 1
7 | 01055—50616 | AR F M6 X 16 (7T) 1
8 | 02024—50060 | MEEF v k M6 1
9 | 04012—50060 | FES 6X12X1.6 1

10 | 34170—41141 JE—=VZATV T (RIVINXR) 1
11 | 082—3300 ATV TEA2 1
12 | 02555—50100 | U} w b M10 (PL.5) 1
13 | 04013—50100 | ¥HES 10X22X1.6 1
14 | 082—3290 =F) 12—5TH7 A 1
15 | 081—0331 AN)—T 1
16 | 05511—50320 | ¥~ 3% 20 1
17 | 082—6000 EEE S 12X22X1.6 1
18 | 34170—15251 | FZEFEo v F (L23—{D) 1
19 | 34170—15261 | FZEHa v K (v a ) 1
20 | 081—7230 TI)VR—) BL—8D (LHSA—8) 2
21 | 082—7260 T)VR—)V (k) BL—8DL (K% Y) 2
22 | 921—1205 757y bk (LA MT) M8 2
23 | 02183—50080 | ~fAFv bk () M8 () 2
24 | 02124—50080 | mME&EF b M8 2
25 | 02151—50080 | <A b M8 (3f#) 4
26 | 04013—50080 | 4 8X 18X 1.6 2
27 | 34170—15271 | FZHEL/A—KRA B 1
28 | 0893151720 72507 Twva LFF—1520 1
29 | 53042—34281 | F = VHES 15X24X 1.6 1
30 | 05511—50425 | &Y~ 4X25 1
31 | 34170—43191 | ¥ 7 b7 — LS AEh 1
32 | 05511—50425 | Z|¥ v 4X25 1
33 | 53042—34281 | Fx VEES 15X24X1.6 1
34 | 34170—15211 | FEZHEI T b7 —L 1
35 | 05412—10525 | RSV T 5% 25 1
36 | 05412—10325 | RSV HFEY 3% 25 1
37 | 34170—43111 | Y7 v 7—L 1
38 | 04612—10150 | ®hAIE XY S—15 1
39 | 53042—34281 | Fx VEES 15X24X1.6 1
40 | 34170—43121 | 7 7 —LFT A 1
41 | 0893151715 TS50 Twva LFF—1515 2
42 | 01125—50820 | ~ARIVE (SWH) M8 X 20 (7T) 4
43 | 04013—50080 | ¥ES 8X 18X 1.6 2
44 | 34170—43171 | > 7 b7 — LZAZHI 1
45 | 0893151720 2509 Twya LFF—1520 1
46 | 01155—50816 | /AR B M8 X 16 (7T) 2
47 | 02124—50080 | MpEB>» k M8 2
48 | 34170—43131 | ¥ 7 PP — LD HE 1
49 | 0893151720 750V Twya LFF—1520 1
50 | 01155—50816 | /AR B M8 X% 16 (77) 2

17




EH_1_1 v ha—IVER (2)

6 TQ\ 80

18



arbho—vE (2) PH11

HiNo.| & & & & B & &% W i = (B | Rk | AR TR
51 | 04013—50080 | FEE4 8X 18X 1.6 2
52 | 02124—50080 | IMEEF v b M8 2
53 | 34170—43141 | RBIZ#E 7 — L 3
54 | 05412—10625 | RSV T 625 4
55 | 34170—43161 | BIZ#EOw F 2
56 | 081—7230 IIVR—)L BL—8D (LHSA—8) 2
57 | 082—7260 TIVR—=IV () BL—8DL (E% ) 2
58 | 921—1205 75VFy bk (LA M) M8 2
59 | 02183—50080 | ~"AAF v bk (Fb) M8 (f5) 2
60 | 02124—50080 | mMEEF v k M8 4
61 | 34170—43181 | AIZEHE7—L (66) 1
62 | 34170—31261 | T L —F@ERL/N— 1
63 | 0892121415 RSA4 AR~ 70B—1215 1
64 | 04013—50120 | FFES 12X26%2.3 1
65 | 04612—10120 | ®RAHIEX T S—12 1
66 | 34170—31331 | TL—FMRL =7 —LC 1
67 | 01155—50820 | AR B M8 X 20 (7T) 1
68 | 02124—50080 | ME&EF v k M8 1
69 | 34170—31271 | 7L —FBRRL \—ih 1
70 | 01155—50820 | /AR B M8 X 20 (7T) 2
71 | 02124—50080 | M@EEF v b M8 2
72 | 34170—31281 | 7L —FMRERLN—T—LA 1
73 | 34170—31291 | 7L —FMERL /=7 —LB 1
74 | 01155—50825 | /AR E M8 X% 25 (7T) 1
75 | 04013—50080 | ‘FEES 8X18X1.6 1
76 | 02124—50080 | MEEF» b M8 1
77 | 34170—31141 | ¥—TF 4 75 v FI — 1
78 | 33174—31251 | /84 THILE 2
79 | 34170—31151 | A L AT v ¥ — 80W—12 4
80 | 04016—50120 | VS 12X32X3.0 5
81 | 04516—50120 | VS \RES M12—1L 2
82 | 01155—51250 | ~AFIL B M12 X 50 (7T) 2
83 | 02153—50120 | ~A<AF vk M12 4
84 | 34170—31171 | #EMRA5— (K) 1
85 | 01125—51025 | /SAFRIVE (SWH) M10X 25 (7T) 4
86 | 04013—50100 | ¥ES 10X22X1.6 2
87 | 34170—31181 | /EAT— (FH) 1
88 | 01125—51025 | ~AAFIVE (SWES) M10X% 25 (7T) 4
89 | 04013—50100 | ¥ES 10X22X1.6 2
90 | 01155—50820 | SA RN b M8 X 20 (7T) 4
91 | 04013—50080 | FRE4 8X 18X 1.6 4
92 | 02124—50080 | IMEEF v k M8 4
93 | 086—0520 ZBHLNR—AAvF TRy b 3
94 | 03024—50512 | +F/UYFFRaxY (SWAD) M5 X 12 3

19



PH11 A/N\— - R 22788

AN

20

\[_v*_t 11-23D




HIN— BB 2>75 PH11

RHiNo.| BB @ & & ® M B W i3 =z B8 | FHEHA ) T

1 | 34170—85111 | R/ v b 1

2 | 01125—50820 | SAXRILE (SWHD M8 X% 20 (7T) 4

3 | 04013—50080 | EEES 8x22%x2. 3 2

4 | 074—8130 HF 1

5 | 074—8500 flTR AR 1

6 | 01025—50514 | 7/SAFRILVE (SWAT) M5 X 14 (7T) 2

7 | 056—2640 w WAYARAN 2

8 | 056—2540 Two9507 2

9 | 03054—50612 | TFIUTFRaAZXY M6 % 12 2
10 | 02024—50060 | Y EF v k M6 2
11 | 083—8200 HAV A 2
12 | 929—4276 SR 10X25X%3.0 2
13 | 083—8200 1 FE <& M10 4
14 | 083—8200 SERE &y 10X 16X 0.5 4
15 | 04012—50100 | FRES: 10X 18X 1.6 4
16 | 02755 —50100 270w 7Fw b M10 (it &) 4
17 | 34170—84212 | TFHh/,3— (K@) 1
18 | 01125—50820 | SAFRIE (SWIT) M8 X 20 (77) 3
19 | 01125—50616 | ~AFRILE (SWIT) M6 X 16 (7T) 3
20 | 34170—84221 | TH/N\— (HRD) 1
21 | 01125—50820 | /~ARILE (SWHT) M8 20 (77) 3
22 | 01025—50616 | ARV EF (SWAD M6 X 16 (7T) 3
23 | 34170—84231 | Th)3— (K%) 1
24 | 01125—50820 | SARIE (SWED) M8 X 20 (7T) 2
25 | 01025—50616 | /~ARILE (SWHT) M6X 16 (7T) 2
26 | 34170—84241 | Fh/,3— (A% 1
27 | 01125—50820 | SAFRIF (SWA) M8X 20 (77) 2
28 | 01025—50616 | ~AARILEF (SWIT) M6 X 16 (7T) 2
29 | 34170—14412 | @R A T— (k) 1
30 | 34170—14421 | A T— () 1
31 | 34170—14451 | 7o Xw b 4
32 | 34170—14431 | A5—28H () 1
33 | 34170—14441 | A5—2H (H) 1
34 | 01025—50616 | 7~AARNLF (SWfT) M6 X 16 (7T) 4
35 | 34170—14341 | I (K) 1
36 | 01025—50616 | 7/~ARILVEF (SWHT) M6 X 16 (7T) 4
37 | 34170—14351 | <& () 1
38 | 01025—50616 | AR+ (SWA) M6 X 16 (7T) 4
39 | 34170—14311 | R FZv b T7L—L 1
40 | 01125—50820 | ~AXRILE (SWD M8 X 20 (7T) 4
41 | 34170—14321 F)3—T7L—L () 1
42 | 834—1001 gua Xw bk 2
43 | 34170—14331 | A/3—T7L—L (B) 1
44 | 34170—14261 A=A i DA 1
45 | 01125—50816 | ARV K (SWFH) M8X 16 (7T) 6
46 | 04013—50080 | FEES 8X 18X 1.6 4
47 | 34170—84311 | 7 kHh)x— 1
48 | 01453—90612 | 75 Y RIL b M6X 12 (7T) 8
49 | 34170—77211 | V=i —RA 1
50 | 34170—32111 | &2 7 HI3— 1

21




PH11 A/N\— - R 22788

AN

22

\[_v*_t 11-23D




AN— 2278 PH11

RiNo.| M & & B B & & W i = fEE |FEEHhr| ST
51 | 01125—50816 | /<A R+ (SWI) M8 X 16 (7T) 4
52 | 02124—50080 | VS EFw b M8 4
53 | 34170—84111 | KR 2w MMk (k) 1
54 | 060—8190 HEABELTF 2
55 | 33174—84191 R7FvwF 2
56 | 03024—50410 | T+F5UYFFNaTXRY (SWAT) M4 X 10 4
57 | 04013—50040 | FEES 4X10X0.8 4
58 | 34170—84161 | fRE (k) 1
59 | 02024—50050 | Y EEF v b M5 8
60 | 04016—50050 | FPES 5X 16X 1.6 8
61 | 34170-84121 | R v Mk (B) 1
62 | 060—8190 HHA AHF 2
63 | 33174—84191 F7FrwF 2
64 | 03024—50410 | +ZF5UFFRaxY (SWHF) M4 X 10 4
65 | 04013—50040 | FRES 4xX10X0.8 4
66 | 34170—84171 | {URE (H) 1
67 | 02024—50050 | Y @EF} v b M5 8
68 | 04016—50050 | FES 5X16X1.6 8
69 | 34170—67111 | BRI &2~ 1
70 | 071—2840 e 22y S 1
71 | 071—2840 XA L—F 1
72 | 071—2840 KLV IS5 1
73 oVy 1
74 | 071—2840 FeJamw k 1
75 | 071—2840 F—Ta=y b FV 1
76 | 03024—50516 | +F7U FFRaxY (SWAIT) M5 X 16 5
77 | 34170—67241 | M RL >V KR—X 1
78 | 34170—67152 | B2 4 H 1
79 | 01125—50820 | /AAFRNLE (SWFD) M8 X% 20 (7T) 4
80 | 04013—50080 | P4 8X16X1.6 4
81 | 34170—67121 | BRI 2/ XV F 2
82 | 02153—50080 | ~<faFvw bk M8 8
83 | 34170—67131 | LAk 1 2
84 | 34170—67141 | TL#x 2 2
85 | 34170—15131 | AAINE /2T 5w b 1
86 | 34170—81311 | XwFVUEHE 1
87 | 01125—50820 | AAFRIVE (SWID) M8 X 20(7T) 2
88 | 34170—84351 | TM 7 7 > H/3— 1
89 | 04013—50080 | ¥4 8X18X1.6 3
90 | 01125—50816 | SAXRILE (SWHT) M8 x 16 (7T) 3
91 | 01125—50616 | /~AFILE (SWIT) M6 X% 16 (7T) 8
92 | 34170—84371 | N—FRAHI— 1
93 | 01125—50816 | /SAFRIVE (SWIT) M8 X 16 (7T) 3
94 | 04013-50080 RS 8x18x%x1.6 3

23




PH11 #—4 - _7‘|:|'7’éﬂ3




F—4-707%

. PH11

RHNo.| B M BE 5 T - T & = B | HOHA| EEETE
1 | 3417053111 | A—=Hr—AZF TS5 v b 1
2 | 01125—51030 | ~AAFRNVE (SWHD) M10 X 30(7T) 4
3 | 01125—51035 | AAFRINLE (SWF) M10 X 35(7T) 12
4 | 04016—50100 | ¥EES 10X25X3.0 12
5 | 33174—53121 | %r— R[a|#zif 1
6 | 02124—50100 | Y EF v b M10 4
7 | 33174—53131 | %— A [E#x§l3Z 1
8 | 06613—30108 | 7'V A=w /)l B—PT1/8(45° ) 3
9 | 33174—53141 | rr— AE#GEES 4

10 | 01125—51025 | /SAFRIE (SWHT) M10 X 25(7T) 8
11 | 34170—56161 | Juvus>ryav7r—L 1
12 | 04012—51200 | FHE4 20X34X3 1
13 | 05511—50430 | &> 4% 30 1
14 | 0893202320 TS5V ERSA AR~ LFF—2020(34V3%) 2
15 | 04612—10170 | $@fAHIEDH S—17 1
16 | 34170—56151 | a5 a v 7 —) 1
17 | 08141—06203 | R—)X7Y 5 6203DD 2
18 | 34170—56191 | ¥ a3 YRV k M8 X 105 1
19 | 02153—50080 | <A+ w b M8 1
20 | 04013—50080 | FEES 8X18X%X1.6 1
21 |02153—50080 | ~far+ v bk M8 1
22 | 34170—56112 | A—HFERA TV ¥ 1
23 | 34170—55151 | 77l 1
24 | 05710—00750 | F— (K#) 7X7X50 1
25 | 05712—00745 | F— (@HL) 7X7X45 1
26 | 34170—55181 | AR—Y 30X 34 1
27 | 33174—55211 | AR—Y 30 X 48 1
28 | 08131 —06206 | HR—ILXT7V) 5 6206 D 2
29 | 950354808 FAIN—)b TC35488 1
30 | 33174—55141 | T X &) 1
31 | 02124—50100 | Yo @EF v b M10 4
32 | 33174—55191 | XZIFr S 1
33 | 03053—50820 | ANATATMARNF M8 X 20 6
34 | 34170—55161 A=Ay Ay £oR) 1
35 | 07516—40047B | VL b SB47 WS800 3
36 | 086—7100 TV RFL—Fh 11.5X42X4.5 1
37 | 01185—51020 | /AAAR)IE M10 X 20(%) 1
38 | 04517—50100 | \xEE (k) M10(%) 1
39 | 34170—53312 | A—Hr—2X 1
40 | 34170—53321 | 7L —F 1
41 | 01655—50825 | FABHIIARI B A1—M8X25(7T) 8
42 | 02124—50080 | S EF v b M8 8
43 | 04014—50800 | FHEE (EHES) 8X25X3.2 8
44 | 082—4130 VA, 2
45 | 04512—50100 | SR ES M10 4
46 | 02173—50100 | /~NAF v b+ (J1H) M10(P1.25) 4
47 | 060—4140 V) EZERV B 2
48 | 34170—55112 | 7w 1
49 | 01155—51025 | AR b M10 X 25(7T) 1
50 | 02153—50100 | AAFw b M10 1

25




PH11 #—4 - _7‘|:|'7’éﬂ3




F—4H-+707% PH11

EHiNo.| H M &FE B 2 . T R - | 2 B% | FoEA| T
51 | 34170—54111 | F—H (k) 1
52 | 34170—54121 | A—H () 1
53 | 828—1123 Twia 80B —3030 2
54 | 0892303420 RSA AR~ 70B—3020 2
55 | 061—5170 F—HAZ) 2
56 | 08141—06205 | R—IRT7V VS 6205LLU 2
57 | 04611—10520 | 7 VHCE! LG R—52 2
58 | 016—0100 =) 2
59 | 01655—51030 | ARFALFEFRIL b B—M10 X 30(7T) 6
60 | 02124—50100 | S @EF v k M10 6
61 | 34170—53211 | A—H7L—L (k) 1
62 | 34170—53221 | A—H7L—L (B) 1
64 | 01655—51035 | AAEFALERRIL b B—M10X35(7T) 8
65 | 02124—50100 | DS pEEFw b M10 8
66 | 34170—51211 | F¥Y Ry I XZ 1
67 | 01155—51030 | AAEFRILE M10 X 30(7T) 4
68 | 02124—50100 | Yo @EEF v b M10 4
69 | 04016—50100 | ‘FEES 10X25X%3.0 2
70 | 709—2111 V¥ —R)IV b M10 X 25 2
71 | 02153—50100 | ~AAF v b M10 2
72 | 04512—00100 | AR ESE M10 2
73 | 34170—53362 | FRERS1EHR 1
74 | 01155—50816 | AR B M8 X 16(7T) 3
75 | 02124—50080 | Y EEF v b M8 3
76 | 04013—50080 | FES 8X18X1.6 3
77 | 34170—53331 | ¥4 F~—4 () 1
78 | 34170—53341 | Y1 F<—h (H) 1
79 | 01655—51025 | AHEFAEARN bk A1—M10X 25(7T) 6
80 | 02124—50100 | Y pEFw k M10 6

27




PH11 4=+ Sy avp

1

Ny

28



F—H=vavE PH1
RHiNo.| % % & 5 B & &% W 1 B B || e T
1 | 34170—54211 | F—Ff 1
2 | 05712—00724 | F— (Wi TXTX24 2
3 | 05711—00745 | F— (Fafh) TX7X%X45 1
4 | 082—5120 F—HAEAR 2
5 | 01155—50816 | 7~A RN b M8 X 16(7T) 4
6 | 34170—50101 | A—HI w3 VT RHNo.1,381s 14
7 | 34170—54311 | A — H Ei@hih 1
8 | 05712—00755 | F— (fHL) TXTX55 1
9 | 01155—51025 | AAAXRNVE M10 X 25(7T) 1
10 | 02153—50100 | /~A1F v b M10 1
11 | 811—2124 FA =) TC30458 3
12 | 0851132028 T—=\0=—SXT7 YT HR320,/28X] 1
13 | 053—5370 AN—H (25X13) 1
14 | 34170—55171 | ARX—Y (28X 13) 1
15 | 702—3206 A el N 1
16 | 08101—06205 | R—ILRXT7 VY5 6205 1
17 | 04811—50600 | OV /% G60 1
18 | 058—5360 RT7 VTV F—F 1
19 | 053—5330 TA—LFr v/ 1
20 | 058—5310 TA—LFYRy 7R 1
21 | 01055—50816 | 7~ARIV b (HEE) M8 X 16(7T) 1
22 | 04717—50080 | /Sy x> M8 1
23 | 0345700812 | NATUTIEARY (ZRIHK) M8 X 12 1
24 | 06312—30102 | PUmBEN =4 PT1,/2 1
25 | 06312—30104 | MUAEETTS Y PT1,/4 1
26 | 08101—06206 | R—JLRXF7VY 4 6206 2
27 | 33174—5131 7 A — LKA =) 1
28 | 053—5391 Ny F 1
29 | 053—5320 7 F—LRy 7 Az 1
30 | 01125—50820 | /AARILE (SWHT) M8 X 20(7T) 3

29




PH11 22— &R

12

13

30

W 11-23D



21— FE PH11

AHNo.| #5 & & 5 g M, % 1 b (B8 | R | BN T
1 | 33174—58121 | ¥ =a— FEUTE 1
2 | 06613—30108 | 7Y RA=w )L B—PT1./8(45°) 2
3 | 33174—58111 | ¥ =2— FEYTER 1
4 |33174—58131 | 757 (¥ 2a— FEMD 3
5 | 01125—50820 | /AR (SWAT) M8 X 20(7T) 6
6 | 06610—10060 | 27V A=w )L A—MS6 (AN~} 3
7 | 33174—53441 | 3w F Y G a—FEUS) 6
8 | 33174—57113 | ¥a—F 1
9 | 01125—50816 | /~AFRILEF (SWAT) M8 X 16(7T) 5

10 | 04013—50080 | FES 8X 18X 1.6 5
11 | 33174—57412 | =754 —H—FR 1
12 | 33174—57421 | =75 14—} —FHF 1
13 | 33174—57431 | t— 75 4 —H— FEFH) 1
14 | 04012—50120 | FRES 12X22X2.3 3
15 | 05511—50320 | &~ 3X%20 3
16 | 33174—57441 | +—TF 4 —H—FRFEHS5— 1
17 | 33174—57451 | v—TOF 4 —H—F) % 1
18 | 33174—58152 | ¥Ya— b LETFE—Z& 1
19 | 02124—50080 | ME&EF v k M8 2
20 | 01155—50816 | AR M8 X 16(7T) 2
21 |33174—57213 | Ya—hkFv v (H) 1
22 | 02124—50080 | MEEF v k M8 4
23 | 04013—50080 | FEESR 8X16X 1.6 1
24 | 05511—52516 | HIL >V 2.5X15 1
25 |33174—57192 | Ya—bFv v TE 2
26 | 33174—57313 | Ya—FrFvy w7 (B) 1
27 | 02124—50080 | Mm@+ k M8 2
29 | 33174—57141 | ¥a—hrVU V% 2
30 | 04013—50100 | FES 10X22X1.6 6
31 | 05511—52520 | #¥ 2.5%20 6
32 |33174—57222 | ATV Y (¥ a—)) 1
33 | 33174—58141 | A 3—F—4% 1
34 | 01025—50612 | ~ARILE (SWHT) M6 X 12(7T) 3
35 | 929-9204 N L 6X1.6x1.6 3
36 | 34170—77411 | AL F)NVFa—T 1 ¢ 20X 1000L 1
37 | 33174—57152 | ¥ 22— hHEEF Yl 1
38 | 01025—50612 | AR EF (SWHD M6 X 12(7T) 1
39 | 04013—50060 | FEES 6x18%1.2 1
40 | 05411—10418 | RSV VT 4X18 1
41 | 05711—00515 | F—mfH 5X5X%15 1
42 | 33174—77341 | aAVHF—+rFa—T 4 @ 10X 350L 1
43 | 0897182015—70B| 7w/ = 70B—1815 1
44 | 01125—50820 | ARV E (SWIT) M8 X 20(7T) 10
45 | 04013—50080 | ¥R 8X18%1.6 10
46 | 34170—82222 | ¥ a— MERT—XEZE 1
47 | 34170—82231 | ¥ A1 1
48 | 34170—82232 | 1.2 1
49 | 33174—57162 | ¥ 22— bHEEIFY 1
50 | 34170—86111 | ¥ a2— MEEIE—&HI3— 1

31




PH11 ;hEER

@ 11-23D

32




MEE PH1T

RHiNo.| B8 & & = B M % ® i i A | RrEHA | FRE T

1 | 33174—11211 | BV /& 2
2 | 05651—51075 | B~ 10X 75 4
3 | 04013—50100 | FRE® 10X 22X 1.6 4
4 | 05511—50320 | HIE 3X20 4
5 | 34170—74241 | TA4—RZ=v ) MTR 8—PT1/4 1
6 | 34170—74251 | T4 —H=w )L MTB 8—PT1/4 1
7 | 34170—74261 | TIVR=w I MLN 8—PT1,4 2
8 | 34170—74271 | F—A¥EH1=F MUD 8—1,4 2
9 | 34170—74211 | U VE LT (1) 1
10 | 34170—74221 | V&AL TS (2) 2
11 | 34170—74231 N EIRLT (3) 1
12 | 33174—53151 | HEYVZ (a—=vU %) 1
13 | 05511—50425 | ¥~ 4%25 1
14 | 04013—50160 | T4 16 X30X% 3.0 2
15 | 01155—51670 | SAXRI b M16 X 70 (7T) 1
16 | 02152—50160 | ~AFw b M16 (3F§) 1
17 | 04513—50160 | N} ESE M16 (35) 1
18 | 33174—74171 | 90° TR (#H1.0) 1/4PTXPFX X 2
19 | 082—2600 T/ AT=IINNVT 1
20 | 01453—90616 | 75 IRk M6 X 16 (7T) 4
21 | 060—2881 90° LR 1/4PTXPFX X 4
22 | 34170—74181 | 45° )R (H1.2) 1,/ 4PTXPFRX A 1
23 | 060—2891 45° T)VR 1,/4PTXPFX X 1
24 | 34170—74111 | WEFR—X 940LXPFX A 7k 1
25 | 060—2811 HER—X 900LXPFX X H 1
26 | 083—2841 HEFR—X 1600LXPFXX & 1
27 | 34170—74141 | BEF—2R 1420LXPF X X & 1
28 | 34170—74151 | WEFR—X 1670LXPFXA X & 1
29 | 34170—74161 | HWEF—XA 1740LXPF A X X 1
30 | 082—2691 WE/ LT LR— S45C—D ¢ 10 1
31 | 02152—50100 | /~AFw k M10 (3%5) 1
32 | 082—2670 =¥ 10—-35 W7o 1
33 | 34170—77421 | AAF)VFa—T () @ 20 X 500 1
34 | 34170—77431 | A4 F)VF2—T (3) ¢ 20 X 750 1
35 | 33174—77331 | V¥ —brFa—T Q) ¢ 30 X 460 1
36 | 082—2510 WMENNY r— 1
37 | 853—1201 AP XA 1
38 | 060—2881 90° T)LR 1/4PTXPFX X 2
39 | 01125—50820 | /~ARILE  (SWIT) M8 X 20 (77) 4
40 | 34170—74191 | FHhF—X ¢ 16 X 303L 1
41 | 060—2530 F— AT )VR 12XPT1,/2 1
42 | 836—1016 b Rl AW N 017 2
43 | 34170—71121 | X=X TS5 w b 1
44 | 01025—50616 | ~AFRIVE  (SWFH M6X% 16 (7T) 2
45 | 834—0011 JuaAw bk 1
46 | 060—2550 F— X2 1
47 | 34170—21342 | WHETS—VY 1
48 | 929—4276 SR A 10X25X%3.0 1
49 | 01125—51016 | SAFRIVE  (SWD) M10X 16 (7T) 1
50 | 05712—00518 | F— (&\HL) 5X5X18 1

33




PH11 iR

[

o : I o r ]

'y . .

g [ H
iy o Tigy -
i iggl Ay i 1l BH E—* ﬂ
Py N'ry,
- L

“,’15 ........ ~
) )
. "

- ™

”

I
<+ B

— e ———————— — S EEEE——

34



Bx PH1T

RHNo.| %8 & & & B &M £ W i = BEL | B | FENE T ¥
1 | 34170—81123 | E—&X)\—XF A 1
2 | 081—8310 IV VARAvF 1
3 | 752—1004K TV F— 1
4 | 752—10042 ITVIVARA yFHIR— 1
5 | 060—8650 RNV A b 1
6 | 02024—50040 | MEEF v b M4 2
7 | 34170—81211 | AV RX—T gV A—X 1
8 | 34170—81211—2| AV ERx—YavA—ZE{f€E (1) 1
9 | 34170—81211-3| AV ER—Y3a v A—ZEf{&HE (2) 1

10 | 34170—81211—4 | +FIUYfZ v/ R M4 X 12 4
11 | 760—1004 EEK 12V1.7TW 7
12 | 083—9484 La—XRy oA 1
13 | 757—3020 La—X 20A 4
14 | 757—3030 La—X 30A 5
15 | 03024—50516 | TF7UTFRaRT (SWAY) M5 X 16 2
16 | 050—7431 A4 RARA v F 1
17 | 086—8650 BRERXA v F 1
18 | 085—8080 JaART 4w 7 (4F5M) 1
19 | 082—8640 EBEILRA v F 1
20 | 084—7420 SAMASSY 1
21 | 074—7420 4 LXK 1
22 | 760—1121 BEK 12V27TW 1
23 | 33174—77341 | AV HF—rFa—T ¢ 10X 350L 1
24 | 02173—50120 | ~AF+v k M12 2
25 | 04516—50120 | /"R EBE M12 1
26 | 34170—32121 | 54 FARF— 1
27 | 01155—51020 | AR b M10 X 20(7T) 1
28 | 02124—50100 | MMEEF v b M10 1
29 | 33174—81161 | 54 FASS’ Y AE-06-615 1
30 | 04411-50100 | H{tES M10 1
31 |02173-50100 | <A+ v +(#H) M10 1
32 | 061—9511 ACARH ¢8 1
33 | 086—8571 Fw RIYaz=wh 1
34 | 03024—50620 | TF7UTFNITFRY (SWAT) M6 % 20 2
35 | 34170—81131 | 7w F¥ 2 Nh—2 R 1
36 | 753—1006 AL at) 55B24L 1
37 | 34170—81322 | /Ay T VUHL 1
38 | 083—8480 Ny T UL 2
39 | 081—8440 Ny FUHIOw R 1
40 | 01025—50690 | SARIVEF (SWF) M6 X 90(7T) 1
41 | 04013—50060 | FESE 6X13X1.0 2
42 | 02024—50060 | mMEEF» k M6 1
43 | 34170—81351 | /XvFVUTLRwF YV 1
44 | 34170—81331 | /ST (+) =T 1
45 | 34170—81342 | SwFY (=) »—T) 1
46 | 34170—81421 VL—T5%w bk 1
47 | 01025—50616 | ARV (SWfT) M6 X 16(7T) 3
48 | 33174—81391 ) L— 4
49 | 03024—50516 | TFIUTFRaARY (SWIT) M5 X 16 4
50 | 34170—81411 | Z'o—Hfi£E 1

35







BxE PH11

AiNo.| H H B B B M B W it (A% | RiEEf | RN TE
51 | 01125—50816 | ~ARIVEF (SWT) M8 X 16(7T) 1
52 | 04013—50080 | EES 8X 18X 1.6 1
53 RA— (FVe—F4 %) 1Y VERsh 1
54 ) L—(Fra—) 17" JER&h 1
55 | 03024—50516 | TFIUTFNaRY (SWAT) M5X16 2
56 | 061—9520 AdAR ¢6 1
57 | 01055—50612 | AR M6 X 12(7T) 2
58 | 02024—50060 | MK b M6 2
59 | 34170—81112 | XA UN—2R R 1
60 | 086—0510 EHLIN—=ZA v F 2
61 | 01255—50520 | +FIUSARBARILVE (SWIT) M5 X 20 2
62 | 01155—50820 | 7~ARI B M8 X 20(7T) 1
63 | 02124—50080 | MEEF v b M8 1
64 | 03054-50416 FROAKT M4 x 16 2

37




PH11 25 v HE

i

Ry AN

11-23D

38



ATvhEs PH11

i ES

w om B M

1

2

iR

R RN

FREE TEK

23D03L—PHO06

A7wh (B - 4%) 11—23D (k)

1

2 | 23DO3R—PHO6| A7wh (B - 4#) 11—-23D (H) 1
3 | E000043 BNV (FEM B 1
4 | E000041 HFINN (7 T ®iE) 1
5 | E000042 HINNN (HEHRAFE) 1
6 | S9999—0006 HEIRNIN (BEDI=HIC) 1
7 | S9999—0007 HFIN)V GEEA—KD) 3
8 | S9999—0009 BESN)NW (A—HEg<—2) 1
9 | S9999—0010 EHSN)N (TavufEg<e—2) 1
10 | S9999—0018 HINNW (STVI—-2ER) 1
11 | S9999—0037 A7 w71 (YANASE) 1
12 | 28D04—PP06 | A7 wvh (BfRK) 1
13 | 34170—87292 | AFwvhH (VX)L F—E) 1
14 | 28D01—PP06 | AT vHh (FRE/I%RI) 1
15 | 23D02-PH11 AT w7 (Grag’sxib) 1
16 | 28D03—PP06 | AFw#H (YF+&) ?
17 | 23D—PH 09 A7 w1 (8i&No) 1
18 | 33174—87322 | FE~—7 (E—75714—H—F#) 2
19 | 34170—87311 | HEE~—72  (FREXEHIEAR) !
20 | 9999-0017 EHESA)N (V21— FREER) 1

39




DT.W LEL9-08L9 LOB9-LBLS
m...T.D

060WHXE | OGOWH
¢l sk | oS
BREL LY =)

;awﬁt...
z l
mnQ O
L 4@

=1 L NI

- = = - = CEL QIR
[T a'@emuT
My
Maszt NZ=-L T @ T
_ MEST T azh+ Tg Y
| = YT [ wseT 2 g
o MZTT  1o—%7F [g e
Yoz - 0
_ i I | "THERRETY 0
giﬂul:% I
h . | el
_ BELE — -
- ___”_Hﬁ T 2966
_ TASZ L WT—¥ H@ o 9_ W R e
}Nﬁ. BILE-
& &
A0 o @ m _
I pLIEM - % L2¢ _
I VWOLIAZL DA pLIE OSOMSHI) WTH—& | @ ﬁ. h@
EYHRIR UW.*LF ds’0 e H ._L.“. E‘—ﬁ
S0 (MSEIX O| [ T"Me
MS—) /7] | ETT
_ VI EMe0  MSHTR—E 10 17 | )
_ YT 50 SdnYAEE—F 19| i | Neo o cee ™
M7 fF w50 adnYe—k o Ep p| LLE
o ¢ gl ) i
oLl (g ox-3) . Pﬁu Wl
ety adY [—k Sy
AT T 2nL @ —E— Er—¥ArlC el
d i —— S ————
- - - - = Eﬁmmi‘em [
ZHANNT—FT ClunEL
ZERSSIRETET (I J; A
FHICHISOEEOI~1 T MY |7
BEWT 25106619  PNEROAM MEHZAO—E7F v&@ 1 MO um_
AT ArdhL BT 6¥L0-5619 £6Y NI n4
s ,..F.._E | ATy A A ) % L
; .md.w > ARD [E MEX0) 7
My M_Mr g g . -
u =

| &

T2 z Z -
sy e SR S i HLL TS (sreigy) mse—rs

I

I
Gy

_ e A AN M e o AMG g

LML

_ —1ngdH _.Jn—u

7 ¥ B
Wi

PH11 EqfiEgx

40




\l

T

E5JLDM 950D

) FAy RER v, 42 ~43
) F 789D &FAIINER 44 ~ 45
BALIOTEYAN—&YT I RTL— - 46 ~ 417
D509 F&EXRIUER wreveeee A8 ~ 49
jJAi,J\-,j F&;\)bjﬁﬂ .................. 50 ~ 51
AWK T&IA—FRTE - 52 ~53
FOI—R&IJA—ZTFT )Ly b} ---54 ~55
TZAR—I)LR&IFY—R FER coveeeees 56 ~ 57
TFT 1) —FEF ceveeeenrrniiaiia 58 ~ 59
JO—T55 &N aAI)LER e 60 ~ 61
A2 T30 ) ZJLER creerenreneens 62 ~ 63
Ao iRV TT7y o TVER .64 ~65
7a—TIILT AILE &IR—RER roeeee 66 ~ 67
FEEHER e 68 ~ 69
FILB L= A F 78— v, 70 ~ 71
AR —=BE—=KB A F 18— e 72 ~ 73

41

2007.7






)R~y RE

RHiNo.| ¥ & F & 1 S TR A ) fiii P B | FTEEAT | AR T
11 | 11101—B8030 |~y N7 T vtk 7V U & 1 1.5
13 | 90041 —05254 | /L b, Ty "—A Ry Rt | M 940 b 14
16 | 111156—87812 | H A7 v k., A~y K ABZIH A 1 1.5
20 | 96411—43000 | 7 7, # A k 2
21 | 96411—41800 | 77 7, #4 k 2
26 | 11128—87801 | Vv o 2T HA R=Fx V' —A K~ | V2 74f 6
28 | 90045—20180 | V> ¥, ¥ 7 R AT o 1
41 | 12261—87810 | Ah— A, _yFL— 3 1
44 | 11201—87802 | A —HT7T7 otz 7Y ) H~y K 1 0.2
45 | 90041—76014 | v b, Fy v 3
46 | 90042—10029 | Vv v, —/b 3
48 | 11213—87801 | H A » b, U H o~y Ri/— 1 0.2
55 | 12180—87101 | v v/ T w7V AANT 4 T— 1
56 | 90041—16364 | Rk, A% v R 2
57 | 90041—16430 | R/ b, A% v K 3
58 | 92122—60618 | Rk, AZ v R 2
59 | 92132—60835 | R/, AZ v K 5
60 | 90041 —16436 | Rk, ZAZ v R 1
91 | 12281 —87704 | /N> H ., =P 1
92 | 12281 —87803 | N>, —m T 1
93 | 91611—60816 | R/L k., 74 AT v ¥ 1
94 | 90041—41081 | Fa—7 1
95 | 91611—60818 | R/ b, 74 AT i ¥ 1

43







SN)oFTAYY &I AIINUER

RNo. | # &b &F & His AT 4 1 fid e EF | FiEEL | AR T
14 | 15601 —87703 | =LA "M}TT vt TV, AANT 4 NH 1
17 | 11401—87820 | 7 ua v s %77 vk 70 V% 1
31 | 90048—01026 | FhI T 7Y% 7 ©T Vo7 Fx o 7R H) 8
32 | 96411—43000 | 75 7, # A k 7
33| 11188—87801 | 7 Z 7/, AL %7 hyo s 1
35| 15795—87801 | / A/, A4/ No.l 1 0.1
36 | 90042—50122 | >, A L — |k 4
37 | 90042—50139 | >, A L — K 3
38 | 90042—53014 | >, U Y 2
45 | 12101—87802 | /N> W T T vk LTV, AA L A KL— 2 1
50 | 90043 —41028 | 757 4 A~y FARL—FAZ U= | M 16 2
51 | 90044—30275 | H A4 v k 0D 24mm ,ID 16.2m m 2
52 | 12151—87801 | H A~ ~, A A L3 1
53 | 90041—20090 | Rk, 74 XD v ¥y 17
54 | 90041—79104 | v k 2
61 | 15301—87812 | ¥'— V77T o7V AL~ | XA TA 1
62 | 11452—87801 | A K, AA /L7 — va—brFa—7 1
64 | 11813—87801 | X7 V7, HhALi %7 FNo.l 1
68 | 90043—44011 | 7 Z V., T—/NAZ VU = 1
85 | 90044—04147 | = =A> 1
86 | 92122—60610 | R/ b, AZ v K 2
87 | 92122—60614 | Rk, AZ v R 1
88 | 90043—86122 | 1 7 — 1

45







BAZITXNHIN—&

J)7T RFTL— BB

RNo. | # &b &F & His T 4 1 fid e EF | FiEEL | AR T
1| 11321—87804 | i "—_ A A I TFY 1
2| 90043—11327 | > —Iv, # A T T "F A L 1
4| 11328—87802 | WA N, AANINAAHA I T T3~ 1
5| 90041—20152 | ARV F, 74 AT vy L=55m m 3
6| 91611—60645 | KL b, 74 X0 v ¥ L=45m m 2
7| 90041—79059 | 7 k 2
8| 91611—60630 | RV bk, 74 AT vy L=30m m 9
10 | 11301—87803 | r—AWTT7 w7V ZAILTFY 1
11| 92122—60614 | RV b, AZ o R L=14m m 1
13 | 90041—20087 | ARV b, 74 AT vy L=16m m ]
14 | 91611—60628 | Rk, 4 AT v ¥y L=28m m 4
49 | 11355—87801 | 7L —Fh., U7 R LT e 1
57 | 11381—87801 | Y7 —F, AL —)b 1
59 | 90043—11326 | >>—, XA T T"H AL 1
63 | 11383—87801 | H A v b, AA v — 1 F—F 1
64 | 91611—60620 | R/ b, 74 XT v ¥ L=20m m 6
656 | 91612—61022 | ARV b, T4 AT vy 3
66 | 11312—87801 | H A v b, #A I TXVr—A 1
67 | 92122—60625 | R/ b, AZ v K 2
68 | 92122—60828 | R/ k., AZ > K 2

4]







D500 % 7 F&EX BB

RN o.

ihoon & oo

1 T O

1 P

&%k

TR

TRIE T

=] O O N

13111 —87806
13112—87804
13121 —87806
12122 —87804
13151 —87806
13152—87804
11011—87201
11012—87201
11702 —87801
11703 —87801
13011 —87806
13012 —87804
13101 —87812
13102 —87812
96151 —01800
13201 —87801
13202 —87204
13203 —87204
132656 —87205
90041 —70291
13405 —87807
13401 —87810
13453 —87104
90041 —056221
13471 —87803
90041 —05286
13521 —87803
90042 —54074
90042 —80031
13041 —87204
13581 —87801
13508 —87803
13572 —87801
90041 —05220

IS AN
V7.,
U7,
JAVE/AN
Vo7, FA4n

Voo, A

Do xEy b, 777 % 7 bATA L
Tyivyty N 77077 AT AR
X7V Ty N 7707 % 71
X7V Ty b, V77T b
Jo 72y h, AR
ooty b, BEA LMY

CANA BT TRV T DA REA Y T ATy T
EARNY A TT o7 04 REAR Y T ATy T
Vo7, AF o

2y N W TT o7V, arxs T s
X7V o7y b axsT 470y R
X7V TRy b agsT4r7ay R
RV, axdF 4T

Fv b, ~FHT
T7I7ARA—N, BT T o7
77, BT T
XY, 7744 —N) T

IV, Uiy =R R~y fadthds
T—=V. VI x 7k

Rk, Ty _X—A Rt o
XY, 770077k

By, A v RRASY) o7
*—, U K77

X7V, axdreryay R
Y7 b, TA FATY

v, Vo Tk TY, TA RV
7L—h, 7ARLVFEFFYAT AL
BV, Ty =R R~y Radd/

a7 bwviral, Nodd
a7 wiya . No.l
a7 bwira ., Nol
a7l wya . Nol

STD

A=A 20.25m m
STD

F—r3—tA 20.25m m
STD

Fr—s =44 20.25m m
() ~7 HSTD)
H— =44 20.25m m
() <7 HSTD)

T A=A 20.25m m
STD
A== A 20.25m m
(V<=7 HISTD)
==t A 20.25m m

(V7 HSTD)
T A=A 20.25m m

T=27Tmm Btk
HAY XY

o SAPERT

y ol APE

e B e T e B e T B e e e = T I T R e ™ ™ B B B o R ol Y e N Y e e S e S o s N ol S e R e B

49







WL v T k&NILTER

RAHiNo.| # & F 5 1 S TR A ) fiii P B | FTEEAT | AR T
15| 13511—87802 | h LA v 7 k 1
19 | 13571—87801 | 7L —hk, ALY 7 FAT A K 1
20 | 91611—60618 | Rk, W74 AT i ¥ 3
21 | 13523—87807 | ¥, WL v 7 NAAI LT A3XTYLXY 1
23 | 13711—87803 | "7 A 2T —7 3
24 | 13715—87803 | 37, =%V — A | 3
25 | 13751—87801 | V 7%, "7 6
26 | 13781—87803 | mw v K, R"AT T v a 6
28 | 13734—87801 | >»— bk, ST ATV T 6
29 | 90048—12020 | >—/ L, /NILT AT LA AL 6
32 | 13741—87702 | V7 —F, 7SIV T AT Y U 6
33| 90048—13006 | 2 w7 ST ATY 7 F—F 12
34 | 90045—01632 | A7V 7, a7l yia 6
35 | 137T16—87802 | ¥ v 7, /SILT AT AL 6
40 | 13811—87802 | 7—L4, 2307 1wl 6
42 | 90048 —15009 | A7 V2 /ST T V% AT 47 6
43 | 94130—60600 | 7 k 6
46 | 13901—87801 | ¥ 7 b T T o7V, AT ool 1
47 | 90041—19765 | AR/ b, 74 AT v/ ¥ 1
49 | 90042—80033 | F—, v KT 7 1
52 | 13951—87801 | 7 R—F, »Sv7 vk 3
53 | 96150—01000 | U7, AF w7 2
54 | 90042—01699 | Vv ¥, 7 L— | 3
55 | 90045—01700 | A7 V7 a7l wviray 2
56 | 94130—60800 |+ k 3
57 | 13958 —87801 | R b, v hHHR—FrEv b, No.l 1
59 | 94611—10800 | V v+, 7'L—F 3

ol







AR T &I A—RKR2 TE

RNo. | # &b &F & His T 4 1 fid e EF | FiEEL | AR T
11| 16100—87803 | iR 7T w7V, U4—H 1
16 | 13519—87803 | X%, AA VKT KT 7 A3 L¥y 1
17 | 90041—20085 | R/ b, 74 XU vy 1
19 | 15140—87801 | A hbL—FTFT w7V FAANKRT 1
35| 15149—87801 | FA7r v b, AANVA N L—F T T ¥ 1
51 | 90041—79059 | 7+ k 2
52 | 90041—20088 | R/ b, T4 AT v ¥ 1
60 | 15131—87201 | S/ F . AANFR LT L) —7 ]
61 | 90045—01519 | A7V 7 av Tl yira v 1
62 | 90044—30186 | H A/ v k 1
63 | 15133—87801 | 77 7/ AA NIRRTV —Tb7 1
71 | 16271—87801 | H A7 v b, U —HKRKT 1
73| 16371—87801 | /—V ., g —ZKRT 1
74 | 90041 —79052 | F v k 2
75 | 91611—60850 | R/ b, 74 AU v/ ¥ 2
80 | 90043—45010 | 7 F7 7, U4 A~y RT—nN"A7 U = ]

93







VI3 &IF—32T 7LV LG
RN o 5 ooh F O His AT 4 1 fid e EF | FiEEL | AR T
5| 16321—87801 | A~ L v b, UA—H 1
6| 16325—87801 | WA vk, —%A 1wk 1
10 | 91611—60620 | RV k., W4 AT i ¥ 2
23 | 16331—87804 | 7 FL v b, T —H e 1
25 | 16341—87801 | ¥ A7 b, UA—FT 7 L v k 1
27 | 90048 —33057 | H—F A% > | 1
30 | 91611—60620 | RV b, 74 AT v ¥y 2
31| 16361—87811 | 7 7 L L ¢310 1
32 | 90041—20090 | ARV bk, 74 XD vy 4
33 | 90048—32125 | ~sL |k V7 L=940m m ]
41 | 165634—87801 | 7 R— K, TV x—% 1
44 | 90041—20064 | R/ b, 74 AT vy ]
46 | 16381—87809 | N—, 77 UL RT V¥ AT 4 7 | 40A 1
49 | 90041—19743 | RV b, T4 X T vy 40A ]
60 | 16400—87809 | 7 v x=—4F 7 w7 7L 3 il 1
63 | 16502—87703 | # v 7 FVx—A YW —7 ]
65 | 16503—87803 | Fx v 7H 7T vt 7, Tr—K =N 1
66 | 16711—87806 | V2T U K, 77 & 340 1
67 | 91511—60616 | AR/ b, 74 AT vy 4
68 | 16335—87801 | F"—RA, T4 —&ZTFT 7 hL v 1
69 | 16262—87801 | h—A, T —H AL v k 1
70 | 90044—67194 | 7 U w7 1
71 | 90043—39069 | 77 7 ]
72 | 90044—67306 | 7 U w7 4
75 | 90044—67370 | 7 VU w7 2
76 | 16401—87711 | F v v 7, TV —X 1
77 | 90044 —45526 | F"— A 1
78 | 90044 —47066 | F— A 1
79 | 90044 —46721 | F— A L=660m m ]
80 | 90041—68029 | A7 Vo HwE LU ]
93 | 16529—87702 | ¥ v v 7, A —& U — 1

95







T-FR—I)LF&IFY—XIE
RNo. | # &b &F & His T 4 1 fid e EF | FiEEL | AR T
11 17510—87806 | ~v~7 7., 7T vtz 71 1
12 | 17451—87807 | H A v b, =F Y —A kA7 1
13| 17451—87807 | H A v b, =%V —RA kA7 2
14 | 90041—79123 |+ k 4
17 | 17101—87801 | ¥~=Fh— I FH T T wvtr 7N AT —7 1
20 | 17522—87801 | /a7 /4 ¥/ —A AT 7 kNo.2 1
21 | 17521—87801 | 7u7 74, =F/—A (77 MNo.l 1
22 | 58333—87801 | 7 uT KR AAL<TT 1
23 | 91651—GO0616| Rk, 74 XD v ¥y 1
24 | 90041—09232 | A7 VU = 6
25 | 94612—10601 | Vv i ¥, L —Fk 6
29 | 17141—87803 | v =/ —/L K, =%V — A | M EARAE () & 1
42 | 17173—87802 | A v b, =X/ —A M =F— RV —~y R 1
47 | 1T177—87802 | HAT v b A T —7~=F—/V RV —~y R 1
51 | 90041—79059 | F v k 2
52 | 91611—60620 | R/ h, 74 XT vy 1
53 | 90041—20150 | R/ b, 74 AT v ¥ 3
54 | 94185—60800 |+ v k., 1w 6
57 | 90041—16323 | /R b, AZ > K 4







T77 ') =7

RHiNo.| & & & & Hlb A 22 {4} i = B2 | e ERAL [ A5 T
18 | 17700—87802 | 7 V—FT ok 7V T4 AL A K 1
19 | 44717—87801 | N> K, =27 7 U—FHR7 4 1
20 | 17881—87804 | FF—A, =7 7 U —F 1
22 | 44673—87801 | =L A, =7 7 J—F 1
25 | 90044—68277 | 7 U w7 2

99




Sg0O0—7545&/N)LYaAILE

v,_t 11-23D

60



JA—755 &N a4 I)LER

RtiNo.| & b &F = His T 4 g fid w EF | FiEEL | AR T
27 | 19850—87801 | 7 Z /7 o7V, Fo— 3
33 | 19871—87801 | axxs %, /u—777 1
41 | 19080—87801 | A NT w7 Y, U4 X777y hga—FK 1
45 | 90044—61201 | 7 > 7 1
46 | 91611—60630 | RV K, 74 X0 v ¥ 1
AT | 93319—14012 | A7 U a, 74 AT v ¥ 1

61




A3/ XILER

re

11-23D

62




N D LY )
A 2ooxa>r/) XILER
RHNo.| # b & & Hl i 2 PR 1| DA (E% | FEiEEA | S TR

14 | 95331—04019 | "h—RA, 72—z )L 1 0.1
21 11176 —87702 | >— k., A =V a v/ A 9
27 | 23600—87801 | kA& / Xty b, X)L 9
53 | 23628—87702 | v R (/J AN A —234 7 H) 3
59 | 23654—87701 | Vwi v (/AN r—34 7R 3
67 | 23760—87801 | NA T T w7V, ANV —lr— ]
75 | 96132—41000 | 7V w7 h—RA %

63







N
o W -

RoTT7vtr>2T)ER

Aoy

RNo. | # &b &F & His T 4 1 fid e EF | FiEEL | AR T
11| 22100—87802 | R 7 7ok FTV A0Vl ra 1
12 | 90301—49003 | V> 0" 1
13| 22811—87801 | AT —, A= avrRrT7 1
15 | 22626—87803 | ¥, R4~ y P A o 1
18 | 90099—13018 | F¥—, Vv K77 1
20 | 90179—08022 | 7~ k 2
23 | 90041—20085 | R/ b, T4 AT vy 2
25 | 22149—87702 | H A7 > b, T UYL 1
27 | 22128—87701 | ANV, T4 ARV Ea—FT 4T~y K 1
32 | 23701—87802 | A THTT vty 7N Ayl vaNol 1
35 | 237T02—87802 | " TV T T o 7N Azl varsNol 1
38 | 237T03—87802 | "M THTT ot 7N Ay aNol 1
50 | 23T41—87701 | 777 A v y=r v a7347 No.l 1
51 | 90041—70263 | F > b, ~FHh a2 1
53 | 23742—87701 | 7 77 A vy =V v a 347 No.l 1
54 | 91611—60620 | R/ h, 74 XT v ¥ 2
89 | 26437—87801 | 7 77, r—v 7 1
90 | 93385—15020 | A7 U=, 74 AT vy 1
95 | 09647—11001 | 7o 4 v k 1
100 | 21801—87801 | A b, T TFT vt TV 1

65







Ja—I)ILT7 4 I)LF &KE—RXES

RNo. | # &b &F & His T 4 1 fid e EF | FiEEL | AR T
11 | 23300—87723 | 74 NWAT w7V, 7a—xI)b 1
17 | 23301—87704 | "7 4 W77 w7V, 72— T 4NVHF 1
23 | 23303—87781 | TV A/ MTT vk 7Y, 72—V T 4IVH 1
60 | 22351—87701 | 7'F 7/, =7 Xk 1
61 | 22353—87701 | HA v b, =7~ k 1
79 | 84461—87707 | B W, T vt 7V 1
80 | 23344—87702 | H A/ v b (24 H) 1

61/







B
RN o oo F B His T 4 1 fid e EF | FiEEL | AR T

1| 90048—75241 | a7 # 2

3| 90048 —T75255 | I % 7 # 1

51 90048 —75016 | a7 4 2

6| 90048—75291 | = %7 # 2

9| 83147—87801 | #—=F L 8

10 | 83147—87804 | #— = F /L 4

11 | 27060—87212 | ANA 32 —2 T vt 7V 40A 1 0.5
13| 90041—19623 | R/ b, 74 AT v ¥ 40A 1

15| 28100—B8010| AX—% T vt 7Y 1.2kW 1

17 | 12511—87804 | 77 v b, ANZFR—# 40A 1
20 | 91651—61028 | R/ h, 7 4 XU v ¥ 2
21 | 90041—79109 | F+ v k 1
22 | 90041—20095 | R/ b, 74 AT vy 40A 2
23 | 90041—79059 | F+ v k 40A 1
27 83530—87208 | AA wF 7T vl TV AL NT L vy |
29 | 83440—87801 | AA »F T w7V Up—FH—F 1
40 | 28521—87802 | # A ~, 7V ke—FT 447 1
42 | 90048 —75253 | IR 7 H 1
43 | 83147—87803 | #— = F /L 2
55 | 28610—87801 | UL —T w7 Fu—757 1

69




AIWELR—E3 A FIN—="

10

1”"'2 11-23D




FILEAR—3 AL FIN—")

RNo. | # &b &F & His AT 4 1 fid e EF | FiEEL | AR T
12 | 27314—87502 |+ v b, 77—V v 1
17 | 27310—87209 | 7L—AT vk 7Y, RIA T R, ANH 3—H 1
20 | 27443—87501 | HN—_ _XFT VY T 1
23 | 27791—87702 | X7 V7 HK—n 1
24 | 27795—87501 | R/ k., W4 AT v ¥ 3
25 | 27312—87705 | 7L — k., UF—F 1
27 | 27792—87501 | A7 V=, T4 AT vy 1
30 | 27793—87501 | R/, AZ v K 2
31 | 27330—87210 | u—&7 vyt 7V, ANVHFx—H 1
33 | 27791—87701 | X7V 7 KR— 1
35 | 27039—87201 | I/ X"—_ Y7 K 1
36 | 22383—87703 | F v k 1
37 | 27314—87703 | 7w k 2
39 | 27359—87207 | 7L—AT7 vty 7N U IT4T77AY, T/ F 1
47 | 27357—87206 | FWH A AXVIT 4T 7AY, ANEFR—H 1
51 | 27370—87205 | RAHET w7 ANEF—H TT7 1
53 | 27371—87501 | 77, ANHFX—H 2
57 | 27372—87501 | AN 7, ANER—HTF 2
60 | 27387—87204 | f =L —#H H—3IF /L No.2 1
63 | 2741187704 | 77—V, AN HZ 3 —# 1
64 | 27412—87209 | 7 —, A~X— 1
66 | 27795—87701 | AR/ bh, 74 AT v ¥ 2
68 | 27794—87502 | A7 Vo, 74 AT v/ ¥ 1
92 | 93319—14025 | AZ V=2, 74 AT vy 2
107 | 27794—87501 | A7 U = 6
108 | 27700—87209 | L X a2 LA 7 vyt 7Y JxRrl—H 1

11







ARB—RE—ZA FI1\—"

RNo. | # &b &F & His AT 4 1 fid e EF | FiEEL | AR T
11| 28011—87801 | 7 v FH 7T w7, AH—4 | 1.2kW 1
21 | 28110—87804 | " 7T w7V, AZ—F K747 | 1.2kW 1
22 | 28272—87802 | A7 VU o 1.2kW 2
33 | 28120—87802 | I—2 T vt TV, AH—H 1.2kW 1
39 | 28130—87804 | 7L—AT wky 7 AA—HayhT—HT R | 1.2kW 1
53 | 28140—87802 | kX T w7V, AX—2TF | 1.2kW 1
54 | 28176—S87701 | A7 V=, T4 AT vy 1.2kW 2
57 | 28143—87802 | A7V T ARZ—HFTZ 1.2kW 4
59 | 28150—87802 | A v F T vt 7V, ~JFy hAZ—4 | 1.2kW 1
61 | 28160—87802 | 7—~F ¥ T vk 7TVU AH—H 1.2kW 1
62 | 28273—87701 | T v (=7 Ry FAAL v FH) 1.2kW 1
64 | 28253—87803 | X7 VT (TF—~F+x 7w rH)|1.2kW 1
66 | 28253—87802 | X7 VT (T—~F v UTH) 1.2kW 1
80 | 28229—87801 | UFr—F, TA KLF¥¥rovF 1.2kW 1
81 | 28254—87801 | ¥V¥, A¥—ZT A KL 1.2kW 1
83 | 28272—87801 | R/ k., AL — 1.2kW 2
94 | 28228—87701 | v—Z, 74 RAX¥ I T vF 1.2kW 5
95 | 28282—87701 | R—/L 1.2kW 1
96 | 28165—87801 | A7 U ¥ 1.2kW 1
185 | 28284 —87702 |0 U > 1.2kW 2

13







